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Different Concepts of NATIONAL INCOME

[Gross Domestic ProductJ

Gross domestic product (GDP) is a measure of the market value of all final
economic goods and services, produced within the domestic territory of a

country during a given time period.

It includes the value of goods produced, such as houses and mobiles, and the
value of services, such as telecom, health, insurance.

The output of each of these is valued at its market price, and the values are
added together to get GDP.
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GAPS BETWEEN THE NOMINAL AND REAL GDP
Real GDP (2011-12 prices) and Nominal GDP (at current prices) in Rs. Lakh cr
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Source: Ministry of Statistics and Programme Implementation
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Real GDP or Gross Domestic Product (GDP) at Constant (2011-12) Prices in Q1 2022-23
is estimated to attain a level of X 36.85 lakh crore, as against ¥ 32.46 lakh crore in Q1

2021-22, showing a growth of 13.5 percent as eempared-te20-1-perecentin-Q1-2021-22
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ILLUSTRATION 1

Find out GDP Deflator? Interpret It

jhmt

(In Billion Rs.)
Years Nominal GDP Real GDP GDP Deflator
2014 500 500 100
2015 800 650 123.08
2016 1150 800 143.75 = H;
2017 1300 950 13684
2018 1550 1190 130.25
2019 1700 1240 137.10

GiOP Oe}kﬂor > 10D, +hic P dicates that

PNOC levels has fr)Or‘caaCd Qo COm
base \\7&0\".

ILLUSTRATION 2

The nominal and real GDP respectively of a country in a particular year are ¥3000 Crores and

})Ored. 0 the

€4700 Crores respectively. Calculate GDP deflator and comment on the level of prices of the
year in comparison with the base year.
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ILLUSTRATION 3 J|00 o

Find nominal GDP if real GDP = 450 and price index = 120
oPe dezflo’ror

Nomina GOP - 450 y 120
|00
= 5yp

GIDP de}loi'orv'o'\l\\t;zrzllgﬂw{ %100

Gop de¥lo’r;)r X f\"caﬂ GOP = Nomind (OP
00

ILLUSTRATION 4

D
Suppose nominal &P of a country in 2010 is given at ¥ 600 Crores and price index is given as
base year 2010 is 100. Now let the nominal GDP increases to & 1200 Crores in 2018 and the

price index rises to 110, find out real GDP?

Nominal GOP Pricc Index- GiOP def
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= Keal GOP oL 2018 = 1200cr. y 100

1O
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Years GDP Deflator 30L|0h00 RO&
2014 100 -
2015 12308 > l%’%loo = 2308
v/ 2016 143.75 4375 =12308 ,,05. 1679
2017 136.84 123.08
2018 130.25 '36'&:%,3‘15ﬂ00= -y
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Multiple Choice Questions

1) _________ is a measure of the market value of all final economic goods and
services, produced within the domestic territory of a country by normal
residents during an accounting year including net factor incomes from abroad.
‘32\" ’ GIOP +NFIR

c) NDP

d) NNP

2) If Net Factor Income from Abroad is positive, then GNP would be

rEI -Rrg GNP 7607
>
b) Lower 60 o
c) Equal
d) Can’t say
3) ____ is a measure of the market value of all final economic goods and

services, produced by normal residents within the domestic territory of a
country including Net Factor Income from Abroad during an accounting year,

excluding depreciation. v
a) GDP » -'\-lL\l.P
b) GNP

NP

d) NDP x




7“3n&- DQ'F mMp L FC FC + 9nd Jox -%ub= mMp

4) Gross Domestic Product (GDP) of any nation
a) excludés capital consumption and intermediate consumption
s inclusive of capital consumption or depreciation

_ g) is inclusive of indirect taxes but excludes subsidies
| d) None of the above

5) Gross National Product at market prices él\]lsﬂis
W GDP w + Net Factor Income from Abroad

bf GDP v - Net Factor Income from Abroad

c'GDP wr - Depreciation N= 0 + NP
dfGDP£+ Net Indirect Taxesy

6) The basis of distinction between market price and factor cost is

a)’"net factor income from abroad
net indirect taxes (i.e., Indirect taxes - Subsidies)
c)met indirect taxes (i.e., Indirect taxes + Subsidies)

ddepreciation ( consumption of fixed capital)
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National Income = (Derqeoh’c Inwme —i—NFlF‘

!
N NPrc = NDPre + NFIA

@u__gSF Calculdte National éI)r‘)of)r\’)t’. ﬁrom the éollonna :

NNPre
? in Crotes
Com ensation © emf)]oyem 520 -
Xg Factor fncome ‘to = ‘Gbroad 30
I\J_e,‘_t ﬁao’rOr T come from obroad 10
g Net Tndied Taxe 4o «
nwme [fom Properky 310 4+ Rent, It
Fr Rer}))t P +a’ 60 x
Mixed frcome OL Scl& emPloJod b05
Prok.s 420

NNPee = 520 +70 + 310 +605+420
= 21925 crove



NNPe = NDfe + NlFIQ
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- Per COPHSO Fnwome / 'Per OOP’JM HOP

COun’rry’s, HOP, 041' bﬂ‘jnl)lohvn -Kenl
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7) The GDP per capita is

(a) a measure of a country's economic output per person v
(b) actual current income receipts of persons A

(c) national income divided by population.”

I‘(,tir)’(a)and (c) above

Nationd Inwome vls "Personal Income

Include lactor Tnwome Includes Fncome Reoc?vcd.
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factor Received L m oll Sources.
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«%8_

3%’) Clore
NDP ¢c 3000
NF) 200 +
Undfotibuted r‘oLiks 100D(-)
Corporcte Tax 500 ()
ﬂﬂ‘ %et (7 gwuseholdo 1500 +
b hou.who\da 100 ~
Tmm e~ inwme 300+
ersonal Tax 500
Net Iib Paid.

1900 -1500 - C300J

Personal Inwme = 8000 +200 -100D 500
+1500- 1200 +30D
> 37300

ISPOSOble (’)crsom| lnme= 1300 — 560

= {6800



_ILLUSTRATION 5

From the following data, calculate NNPfc, NN\l/DMP, GNP/MP and GD;MP.
Items 7in Crores
Operating surplus — Rent, 90t & frop- 2000~
Mixed income of self-employed - 1100
Rent X . 550
Profit x 800
‘ indirect tax 450
Consumption of fixed capital - Bep 400

Net factor income from abroad -50
Compensation of employees - Woqe 1000

L NINPL = 2000 +1100 =50 +1000
= 4950

2. NNPwp = NNPre +Indirect Taxe -Subsidj
- Yoso + 43D
= Y3Sod

]

3 GNPwp = NNPwp +Dep
4300 + Yoo

4900

v

4. GOPe - GNPwp - NRA = 4400 -(50) = 4450



ILLUSTRATION 7 i

Calculate the aggregate value of depreciation when the GDP at market price of a country in a
particular year was 1,100 Crores. Net Factor Income from Abroad was ¢ 100 Crores. The value
of Indirect taxes — Subsidies was & 150 Crores and National Income was ¥ 850 Crores.

(;DPwe - 10O | NRA= 100, NIT 150
NNPFC- = 849D

GOPMP = NNPre + De “NFIR + NIT
1100 350 +Oe -100 +I50

De)o 3200 crom

(Y]

\!
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ILLUSTRATION 6

From the following data, estimate National Income and Personal Income.

Items 7. in Crores
Net national product at market price 1,891
Income from property and entrepreneurship accruing
to government administrative departments (,45)
Indirect taxes fﬁanorc 175
Subsidies -3anom 30
Saving of non-departmental enterprises v ( 70)
Interest on National debt — Tram [;er Snwma +15
Current transfers from government -Tmm[ﬂ nwome - 4+ 35
Current transfers from rest of the world + 20

. . - Retelned
Saving of private corporate sector eov nma, 25
Corporate profit tax 25

Nafonal Jnwme = NNPup  — Sndirect Tanes + Subsidic
[ NNPre) 18491 - 115 + 30
1746

]

W

Private Inome =  NNPre
= |46 -Y5 -10 +15 +35+20
Privdte Jnwme = 176!

Budnes - (I)roLil:' 100 - Nahonal Intome
Privakt Sector / \

e Ouidend  Rebained ~ Tax
o 20 Yo Rowh
J




|
Household. =2

—
p————}

Personal Ynwme = 1746 -U5-10 +I5+35 +20-25-25
il

ILLUSTRATION 8

On basis of following information, calculate NNP at market price and Disposable personal income

Items <in Crores

NDP at factor cost —gomm‘ﬂ'c S"\wme 14900

Income from domestic product accruing to government (750)

Interest on National debt - “’amte,vfnwme +170

Transfer payment by government + 60

Net private donation from abroad - Tmn\lcf + 30

Net factor income from abroad + 80

Indirect taxes ~J 3nore 335

Direct taxes — Personal Jniome Tax 100/

Subsidies - 38nom 262

Taxes on corporate profits </ ( 222)

Undistributed profits of corporations ('705 )

s
NNPup = NDPre 4 NFIA + Indirect Tax - Subsid
a0  + 80 + 335 - 26) J
= |5053
NDPrc :
Personal _  [UG00 -150 + 110 +60+30 +80 -222-105
Inwome = 14763

‘Personal 14763 — 100
DfsPosobk Ynwme U663

Wi



\,\/\A-
168— Colculo’l?c 13 (l)rnuot& f]nwrne. (n)rpersmol nwme g/

(i) ?ersono\ DusPosoble mwme.

z
Nationol  Jnome - NNPec 3000
Savings 0 rvate oonporak Sector . 30
Cor]ﬁom’rc Tox ~ 80

Current  transfern  [rom (vt 60
Inome  Lrom tm}:ara & entre r:mmsh»’z to Guovl |50
Current’ tra })ers mm Tco’c of the World 50
a\urUA L non- cleparimental SovT» Sechor 40O
Néb Tndired’ Toxe 250
Dfrect toxes Patd by howehold. 100
Net l)ac’ror fhwon¥ Lrvm abroad clo)

1] Private Income
- 2000 + 60-150 +50 -4Yp
= 22920

2] Pergonal Inwme = ;%8‘130 -30 -8o

e

3) "Possonal Df’s?oscy Inome = 9810 — (00
= 110



8) Personal income excludes:
) NFIA

Morporate tax~~

(c) Personal Tax

(d) Current transfers

9) Total income of households from all sources is known as:
'\})/personal income

b) private income

c) personal disposable income

d) None of the above

10) Which of the following is added to national income while calculating
personal income? NNPre
.(z)é-ansfer payments to individuals

(b) Undistributed profits of corporate

(c) Transfer payments made to foreigners

(d) Mixed income of self employed
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Data requirements and Outcomes of Different Methods of National Income Calculation

Method

Data required

What is measured

Phase of Output: Value
added method (Product
Method)

The sum of net values added by all
the producing enterprises of the
country

Contribution of production
units

Phase of income: Income
Method

Total factor incomes generated in
the production of goods and
services

Relative contribution of
factor owners

Phase of disposition:
Expenditure method

Sum of expenditures of the three
spending units in the economy,
namely, government, consumer
households, and producing
enterprises

Flow of consumption and
investment expenditures




1. Volve added Method or Produch Method.
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a) “Primar Sec’rvr anc.u e, exhucton of naturdl Hecourus.
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G] Tcrl'loa or Service Sector- Bonhlrn mmPor‘t
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&
ADmul

The Taste of India ——\

Tohl Ou‘rlout , 002 @50- 70,000 ' purthSe 10, ooo/lﬁ’“‘"d""'
B Jee-crom- {50,000
L-’Sntem]cdnote 00000)

GivAme- Z10.000 ConsumpHon
GvAmp Y0.00D



ZGvAme = 10,000 +10.000
= Z50,000 ZGIVAmP = GrOPur
Qnuah =
=d
— .
Q& 2 8
Wood - 100 ‘arch- 100 " Purch-300
4vA- 100 400 7+ 200
300 " 500— Gonsumer
gvﬂ‘ 900
avﬁ' 20D
zgve 100 +200 + 00
= 500
T QDPMP

— \Volee oL ©utPu’6 Soles + Change 8’rooK
\(J S+oc|{ OPS’rook

f,j,_ Ford Salea- 2100.000
Ops’roo 310.000 \)qlue,o(7 0u¥Put’
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100,000 -10,000 415000
= 2108000
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ILLUSTRATION 9

Calculate National Income by Value Added Method with the help of following data-

Particulars ¢ (in Crores)
Sales v _700_
Opening stock ~ 500
Intermediate Consumption _350
Closing Stock 400

Net Factor Income from Abroad -~ 30
Depreciation =150
Excise Tax— — 110
Subsidies 50

GIVQMP = \Valve OL Ou’r!:)ut ‘3nterm<:d‘nojﬂ: ons.

GiDP e
NNPe

=

[ 700 -50o+4e) - 350

= 50

&DPNIP "De + NFIA -9ndired Tax+S
Q50 -150 "+30-10 +50

1)

Z30 Cromo

ubsli]



ILLUSTRATION 11

Calculate national income by value added method.

Particulars ( in crores)
Value of output in primary sector v ,~ 2000
Intermediate consumption of primary sector \- 200
Value of output of secondary sector - 2800
Intermediate consumption of secondary sector 800
Value of output of tertiary sector - 1600
Intermediate consumption of tertiary sector 600
Net factor income from abroad - -30
Net indirect taxes 300
Depreciation 470

GDPw - (3000 -200) + (2800 -800)+ (l6o0-600)
8 VAme - ?rimm\\l
= Ygop

NNPe - UBop = 470 =230 - 300
=zY000



ILLUSTRATION 12
Calculate Net Value Added by Factor Cost from the following data

Items Tin Crores
Purchase of materials 85
Sales — 450
Depreciation 30
Opening stock - 40
Closing stock 30

Excise tax—~ 45 1 Tntermediale cons.
ereoc\ heludes

Puchase ol l“la‘ccml

Intermediate consumption 200

Subsidies 15

GvaAme =(U50 +30 -4o) — 00
QY0

NVAre = GiVAmp - F SndTox +8ub51dj
Q40 - 30-us'+18
= T 180 Croms.-



ILLUSTRATION 10 Rent. Ind, ?roﬁt
Calculate the Operating Surplus with the help of following data-

Particulars <in Crores
Sales = 4000
Compensation of employees - 800
Intermediate consumption - 600

Rent 400
Interest 300

Net indirect tax- - 500
Consumption of Fixed Capital - QGP 200

Mixed Income 400

- NOPee = Comp 0| em}aloucaixjd(’%s;‘;ﬁl? Sull tmb

- :0Pmp = Yooo - 600
L )]0

NOPec - 3400 ~ 200 -500
= Q100
", Q100- Joo + Op gup + Yoo
O\o Qurp - 1500



Home works :

Calculate ‘Sales’ from the following data :

Particulars T in Lakhs
Subsidies 200
Opening stock 100
Closing stock —600
Intermediate consumption 3,000
Consumption of fixeﬂgital/btf 700
Profit 750
Net value added at factor cost 2,000

GiVAmP = NVAfe + Dep + Indtax -Sub.
- = Q000 + 7 + O - 200

Q500
qum V0|Ue o 0u ut

QbOO = [golm + Cha Ir) Shok] antorn]cd cons
2500 = Sale + 600 -100 - 300D
Sales - Z5000

\
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_/(LLUSTRATlON 13

Calculate NI with the help of Expenditure method and income method with the help of following

data: NNPH.
Items <in Crores
Compensation of employees v 1,200 o
Net factor income from Abroad # 20
Net indirect taxes » ~ —120
Profit - 800
Private final consumption expenditure -~ 2,000
Net domestic capital formation 770
Consumption of fixed capital -~ — 130
Rent 400
7|reada
Interest 620 ancl g d ed
Mixed income of self-employed - 700 -
Net export 30
Govt. final consumption expenditure 1700
Operating surplus 1820
Employer’s contribution to social security scheme 300
Income l“‘lc =
NDPrc - 1200 + 1320 +7100
= 3730
Nahonal Jnome= 31&0 +0 = 3THD
NNPre =

8)\':) I“loﬂaod G1DPwp =
N NPr¢

Q%oo +770 +130+ 30+ 10D
4030
> 4030 ~-130+Q0-120 = 3800



ILLUSTRATION 14

/

From the following data calculate (a) Gross Domestic Product at Factor Cost, and (b) Gross

Domestic Product at Market price
Items

Gross national product at factor cost &
Net exports

Compensation of employees

Rent

Interest

Profit

Net indirect taxes

Net domestic capital formation
Gross domestic capital formation

Factor income to abroad

Tin Crores

61,500

(-) 50

—3000

- 800

900

1,300

—>300
‘ZZZ> 100-Ocp

80

.ann}e Nl@d'
NDPre - 3000 + 800 +900 +1300

= Z6000
GiOPrc = NDPre + E)elb
= 6oop +100
= 6100
GOPM? - G0Pre + 9nd fax - ub
- 6100+300

- F6u0



ILLUSTRATION 15
Calculate NNPec. By expenditure method with the help of following information -

Items ¢in Crores
Private final consumption expenditure < 10
Net Import (| Export -am]a) C0) 20
Public final consumption expenditure ~ 05
Gross domestic fixed capital formation - 350
Depreciation 30
Subsidy 100
Income paid to abroad 20
Change in stock ~ 30
Net acquisition of valuables - 10
GOPwe - le)OS 20 +05 + 350 +30+10

NNPe - 335 -230-20 + 100



Calculate Gross Domestic Product at market Prices (GDPwp) and deriv
national income from the following data (in Crores of )

Inventory Investment + 100
Exports -+ 200
Indirect taxes 100
Net factor income from abroad - 50
Personal consumption expenditure -+ 3500
Gross residential construction investment + 300
Depreciation == 50

Imports — 100
Government purchases of goods and services —” —+ 1000
Gross public investment 4+ 200
Gross business fixed investment + 300

GiDPwe = 25500

NNFPec - GDPwe - Deb +NAA - NIT
5500 - 50 -150 - 10D
%5300

N

')



4 7

Find GDPve and GNPy from the following data (in Crores of %) using income
method. Show that it is the same as that obtained by expenditure method.

Personal Consumption + 7314
Depreciation 800
Wages + 6,508
Indirect Business Taxes 1,000
Interest —)— 1,060
Domestic Investment 4+ 1442 4
Government Expenditures 4+ 2,196
Rental Income + 34
Corporate Profits + 682
Exports + 1,346
Net Factor Income from Abroad 40
Mixed Income ‘l" 806
Imports — 1,408
Tncome l‘"d@\od'
- NDPe = 909D
GiDOPme - NDPee +Dep + NIT
" - Qp9p + Bob + 1000
= 10890
GiNPae = G:OPwp + NFIR
10890 +40

Mo

710930



87&‘)60 ditur F’)@ﬁd

GiOPrap - 10840
GNP Mp- 10890 + 40
= 10930



Cbﬁ'ind

11) The concept of ‘resident unit’ involved in the definition of GDP denotes
(a) A business enterprise which belongs to a citizen of India with production
units solely situated in India X

he unit having predominant|economic interest|in the economic territory

of the country for one year or more irrespective of the nationality or legal
status

(c) A citizen household which had been living in India during the accounting
year and one whose economic interests are solely in India X

(d) Households and business enterprises composed of citizens of India alone
living in India during the accounting year X

12) Read the following statements and answer the following question.
l. Intermediate consumption consists of the value of the goods and services

consumed as inputs by a process of production, v
1J. Intermediate consumption excludes fixed assets whose consumption is

recorded as consumption of fixed capital. v

(a) Only I is true

(b) Both | and Il are true\/
(c) Only Il is true

(d) Neither I nor Il is true

13) Which of the following does not enter into the calculation of national
income?

(a) Exchange of previously produced goods

(b) Exchange of second hand goods

(c) Exchange of stocks and bonds

(d) All the above ,




Raw Mot ‘gg _Value add

+P$‘ooess

150- Oul-Put

14) Read the following statements

l. ‘Value added’ refers to the difference between value of output and
purchase of intermediate goods. v/

Il. ‘Value added’ represents the contribution of labour and capital to the
production process.

(a) Statements | and Il are incorrect

(b) Statements | and Il are correct

(c) Statement | is correct and Il is incorrect

(d) Statement Il is correct and | is incorrect

*.

15) Non-economic activities are

(a) those activities whose value is excluded from national |)r§come calculation
as it will involve double countihg— Antermcdiate

those which produce goods and services, but since these are not

h exchanged in a market transaction they do not command any market value
(c) those which do not involve production of goods and services as they are
meant to provide hobbies and leisure time activities

(d) those which result in production for self consumption and therefore not
included in national income calculation

16) Which of the following enters into the calculation of national income?
(a) The value of the services that accompany the sale v Chon &Sw‘»\?)

{5 Additions to inventory stocks of final goods and materials v
(c) Stocks and bonds sold during the current year . Financial Srans.

y(df(a) and (b) above




17) National income using the below data is:

d) None of the above

1 | Personal Income 8000
2 | Mixed Income of self employed 4+ 2000
3 | Compensation of employees 4 1600
4 | Net-factor Income from abroad < =200
5 | Rent -+ 1500
6 | Personal Income Taxes 800
7 | Profit -+ 1400
8 | Consumption of fixed capital 600
9 | Direct taxes paid by households 900
10 | Non-Tax Payments 1000
11 | Net Indirect taxes 700
12 | Net Exports Taxes -180
13 | Interest —+ 1100
NDPre =7600
a) 6300 NNPfc >~ 1600~ 200
{ bY7400 400
c) 8200




k

18) Operating Surplus using the below data is:

Particulars % (In Crore)
Sales v 4,000
Compensation to employees 800
Intermediate consumption v 600
Rent —400
Interest —500
Net indirect taxes -~ 500
Consumption of fixed capital «* 200
Mixed income 400
OPwp = tgmo — 600 )
a) 800 Gt = 2400 —  NDPe- 3yoo-200-5
J”) ff)? NDPrc = Comp + Op Surp + Mixed inc.
C
d) 1200 &100 = Boo + ﬂ] +400

OF Sur‘ss IS0

Q




19) Domestic Income using the below data is:

Particulars % crore
(i) |Sales by firm B to aeneral government 300
(i) |Sales by firm A — Total Sales 1500|
(i) |Sales by firm B to households 13501
(ivy  [Change in stock of firm A 200
(V) |Closing stock of firm B J 140
(vi) |Opening stock of firm B 130
(Vi) [Purchases by firm A 270
(viii) |Indirect taxes paid by both the firms 375
(ix) |Consumption of fixed capital — 720
Sales by firm Ato B A,”"mj Bnd in i 300
a) 1,995
,695
c) 1,295

d) None of the above

6Ok, A

\

VOIUi @') OuIPut «Sntem]ul consumf
SBales + Ohar(\jc in 8’roo

= |500+00 270
= Y30

M) _

HmB = 1650410 =300
= 1360

GiOPme- 1430+ 1360 = 2190
NDPr¢ = RQ190-120-31S = léqb



Which Method is more suitable?

* Ideally, all the three methods of national income computation should
arrive at the same figure.

e Each method of measuring GDP is subject to measurement errors and
each method provides a check on the accuracy of the other methods.

* By calculating total output in several different ways and then trying to
resolve the differences, we will be able to arrive at a more accurate
measure than would be possible with one method alone.

* Moreover, different ways of measuring total output give us different
insights into the structure of our economy.

|Income method|may be most suitable for|developed economies|where

people properly file their income tax returns.

With the growing facility in the use of the commodity flow method of
estimating expenditures, an increasing proportion of the national income is
being estimated by expenditure method.

Most suitable method for INDIA?
As a matter of fact, countries like India are unable to estimate their
national income wholly by one method.

Thus, in the[agricultural sector] net value added is estimated by the

|production method} in the |small scale sector| net value added is estimated

by the[income method|and in the|construction sector|net value added is

estimated by the |expenditure method|




NATIONAL INCOME ACCOUNTING

National Income Accounting, pioneered by the Nobel prize-winning
economists Simon Kuznets and Richard Stone @ :

It is the system of macro-economic accounts
from the stage of production of goods and
services to the stage of their final disposal.

National Accounts help us to understand how the various
transactions from the stage of production of goods and services to the
stage of their final disposal are interrelated and give us an idea of the

working of an economy.

It helps to meet the needs of Government, private analysts, policy makers

and decision takers.

The Central Statistical Organisation (CSO) in the Ministry of Statistics and
Programme Implementation (MoSP&l) is responsible for the compilation of
National accounts statistics.

At the State level, State Directorates of Economics and Statistics (DESs) have
the responsibility of compiling their State Domestic Product and other aggregates

 GOVERNMENT OF INDIA

« MINISTRY OF STATISTICS AND :
" PROGRAMME IMPLEMENTATION:




THE SYSTEM OF REGIONAL ACCOUNTS IN INDIA

Regional accounts provide an integrated database on the innumerable
transactions taking place in the regional economy and help decision making at the

regional level.

At present, practically all the states and union territories of India compute state
income estimates and district level estimates.

State Income or Net State Domestic Product (NSDP) is a measure in
monetary terms of the volume of all goods and services produced in the state
within a given period of time (generally a year) accounted without duplication.

Per Capita State Income is obtained by dividing the NSDP (State Income) by the

midyear|projected population of the state.

In the preparation of state income estimates, certain activities such

as railways, communications, banking and insurance and central government
administration, that cut across state boundaries, and thus their economic
contribution cannot be assigned to any one state directly are known as the

|‘Supra—regional sectors’ bf the economy.

The estimates for these supra regional activities are compiled for the economy as
a whole and allocated to the states on the basis of relevant indicators.




USEFULNESS AND SIGNIFICANCE OF NATIONAL INCOME ESTIMATES

Businesses to| forecast the future demand for their productsl

The estimates of national income show the composition and structure of
national income in terms of different sectors of the economy, the periodical
variations in them and the broad sectoral shifts in an economy over time.
Sectoral contribution to National Income information is used by the
government to decide various sector-specific development policies to increase
growth rates.

National income statistics also provide a quantitative basis for macroeconomic
modelling and analysis, for assessing and choosing economic policies and for
objective statements as well as evaluation of governments’ economic policies.
National income estimates throw light on income distribution and the possible
inequality in the distribution among different income categories . It facilitates
the process of comparisons of structural statistics, such as ratios of
investment to growth , taxes proceeds and fiscal deficit , or government
expenditures to GDP.

International comparisons in respect of incomes and living standards assist in
determining eligibility for loans, and/or other funds or conditions under which
such loans, and/ or funds are made available.

Combined with financial and monetary data, national income data provides a
guide to make policies for growth and inflation.




GDP & WELFARE

Can the GDP of a country be taken as an index of the welfare of people in
that country?

There are many reasons to dispute the validity of GDP as a perfect measure of well-
being. In fact, GDP measures our ability to obtain many requirements to make our life
better; yet leave out many important aspects which ensure good quality of life for all.
GDP measures exclude the following which are critical for the overall wellbeing of
citizens:

* Income distributions and, therefore, GDP per capita is a completely inadequate
measure of welfare. Countries may have significantly different income distributions
and, consequently, different levels of overall well-being for the same level of per
capita income.

* Quality improvements in systems and processes due to technological as well as
managerial innovations which reflect true growth in output from year to year.

* Productions hidden from government authorities, either because those engaged in it
are evading taxes or because it is illegal (drugs, gambling etc.).

* Non market production and Non-economic contributors to well-being for example:
health of a country’s citizens, education levels, political participation, or other social
and political factors that may significantly affect well- being levels.

e The disutility of loss of leisure time. We know that, other things remaining the same,
a country’s GDP rises if the total hours of work increase.

Foted Bours o wyorR T - GoP7T
Lefeare Hme - We.lLarz v




Economic 'bads’ for example: crime, pollution, traffic congestion etc which
make us worse off.

The volunteer work and services rendered without remuneration undertaken in
the economy, even though such work can contribute to social well-being as
much as paid work.

Many things that contribute to our economic welfare such as, leisure time,
fairness, gender equality, security of community feeling etc.,

Both positive and negative externalities which are external effects that do not
form part of market transactions

The distinction between production that makes us better off and production
that only prevents us from becoming worse off, for e.g. defence expenditures
such as on police protection. Increased expenditure on police due to increase in
crimes may increase GDP but these expenses only prevent us from becoming
worse off. However, no reflection is made in national income of the negative
impacts of higher crime rates. As another example, automobile accidents result
in production of repairs, output of medical services, insurance, and legal
services all of which are production included in GDP just as any other
production.




LIMITATIONS AND CHALLENGES OF

NATIONAL INCOME COMPUTATION

There are innumerable limitations and challenges in the computation of national
income. The task is more complex in underdeveloped and developing countries.
Following are the general dilemmas in measurement of national income.

There are many conceptual difficulties related to measurement which are difficult
to resolve, such as:

(a) lack of an agreed definition of national income,

(b) accurate distinction between final goods and intermediate goods,

(c) issue of transfer payments,

(d) services of durable goods,

(e) difficulty of incorporating distribution of income,

(f) valuation of a new good at constant prices, and

(g) valuation of government services

Other challenges relate to:

(a) Inadequacy of data and lack of reliability of available data,

(b) presence of non-monetised sector,

(c) production for self-consumption,

(d) absence of recording of incomes due to illiteracy and ignorance,
(e) lack of proper occupational classification, and

(f) accurate estimation of consumption of fixed capital

Un\tﬁif.



